CROSS-OUT NUMBER PUZZLE ﬂ

290, 300, 310, 1117 +1024 =

The perimeter
of the hexagon.

HINT: The distance
around the hexagon.

975674 =

100 less than 2222 =

Write in standard form. The area of
2000+ 100 + 30 + 2 the rectangle.

HINT: Count the

@ unit squares.
QoD =

4 quarters = ¢
10 tens 10 x 10 Use <, =, or >. HINT: the number of cents.

8 quarters = ¢

10 more than 2133 = HINT: the number of cents.

The hundred that 270 is closer to.
HINT: Place 270 on the number line.

12+12+12+12 =12+12+12 +

1
200 300 r \ \ |= — shaded

HINT: Divide the bar info equal parts so
the shaded part is one of the equal parts.

Write in standard form.
2 tens and 13 ones.

1
5+5+3+7+4+6+ 1= I ‘ ‘ = — shaded

HINT: Find pairs that add fo 10. HINT: Divide the bar into equal parts so
the shaded part is one of the equal parts.

50+50+30+70+40+ 60+ 10=
HINT: Find pairs that add to 100.

Use <, =, or >.

1 1
3 4

The value of the underlined digit

| e U ]
HINT: Find the numbel

in the square that

balances the scale. 45 + 99 45 +100 Use <, =, or >,
D Q (of B G S A U X (o] T K E J
< = > Va Vs V) 12 13 20 30 31 32 33 40
F P w K z | C B E N N L H R
100 140 200 300 301 310 320 2122 2131 2132 2132 2141 2143 2144
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